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I Can we get a nice, closed form for the solution? Let's try our eigenvalue, eigenvector approach:
" > eigenvects(A);

[.8+.2000000000 1, 1, {{-2.000000000, 71}], [ .9~.2000000000 /, 1, {[-2.000000000, —71}]

[>
Can we use this to find a closed form solution to the problem?.....
In class notes we have done so! Here is the sofution we have found:

[ > r:=sqrt(.85):;
theta:=arctan(.2/.9);
G:=t~>100*r"t*cos(theta*t);
Hi=t->50*r t*sin(theta*t);

r = 9219544457
0 := 2186685459
Gz 1007 cos(61)

H:=t-350r sin(0 1)

[ > actual:=plot{[G(t),H(t),t=0..100] ,color=black):
; display({actual,pictl, soltn} title="numerical and
i analytic solutions™);
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